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QUESTION 1

Which of the following assists with airflow in a server? (Select TWO). 

A. Riser cards 

B. Water cooling 

C. Shroud 

D. Baffle 

E. Heat sinks 

Correct Answer: CD 

 

QUESTION 2

Due to slow backup response, an administrator installed a new driver for the SCSI card. After a server reboot the device
is not working properly. Which of the following is the BEST course of action? 

A. Reboot the server and restore files using ASR. 

B. In Device Manager, locate the device, and click Roll Back Driver at the driver tab. 

C. Restore the driver from the previous backup tape. 

D. Go to Device Manager, locate the device, and click Restore Previous Driver at the driver tab. 

Correct Answer: B 

 

QUESTION 3

A technician prints out the following server NIC configuration: IP 192.168.0.1 NETMASK 255.255.255.0 GATEWAY
192.168.0.254 DNS1 169.254.1.2 DNS2 169.254.2.1 

Which of the following is the MOST likely cause why the server is unable to download operating system updates? 

A. Wrong Netmask 

B. Wrong DNS addresses 

C. Wrong Gateway 

D. Wrong IP address 

Correct Answer: B 

 

QUESTION 4
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Security patches that were issued to address a security flaw in the database server software have failed to install. All
other OS security patches applied successfully. Which of the following is the MOST likely cause of the failure? 

A. Database patches typically require a reinstall of the database server software. 

B. The server was unavailable during the patch window. 

C. The OS patches and database patches cannot be deployed together. 

D. The account used does not have permission to patch the database software. 

Correct Answer: D 

 

QUESTION 5

An administrator needs to maintain 1TB of storage for mission critical application data. Fault tolerance and performance
are the most important considerations. Cost is not a factor at all. Which of the following RAID configurations would be
the BEST choice to meet the criteria for the storage array? 

A. RAID 6 with six 250GB hard drives 

B. RAID 10 with eight 250GB hard drives 

C. RAID 5 with five 250GB hard drives 

D. RAID 0 with eight 250GB hard drives 

Correct Answer: B 
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